C:h Lattice 3 by 2

Name:

Use lattice multiplication to solve each problem.

b 591 x 54 = 2) 722 x75=

Answers

/ 7 7 7 7 ’ ’ 7 7
/ ’ / ’ ’ ’ / ’ /
s 7 7 4 7 7 4 4 2.
s 7 s / ’ 7 7 7 s
7 /s s / ’ s 7 ’ s
4 7/ 7 4 7
4 7/ 7/ // 4 // // // 4 // // //
/7 7 7 V2 4 7/ 7/ ya / 7 Vi 3
s s s, 7 s , ’ /s , .
7 s ’ 7 7 , 7 s s,
s 7 , 7 7 , / 7 ,
s s , 7 s , s s Vs
s s s 7 s y Ve s
4.
5.
) 698 x 33 = ) 447 x 39 = ) 111 x 53 =
6.
s s s s s s 7 s s
/ 7 / ’ / / ’ / /
’ ’ ’ ’ 7 /s ’ /
’ ’ , ’ ’ ’ ’ , , 7.
7 / s 4 7 7 4 7 7
7 7/ 7/ 7 7
7 s s ,/ 4 // // ,/ s ,/ ,/ /’
7 s V] y 4 ’ s ’ 4 4 s
7 7 , / s ’ 7 7 , 8
s 7 y s s , s s , .
s 7 , s / P 7 / ,
7 7 y / / y 7 7 ,
7 s y 7 s Vs 7 7
9.
10.
) 696 % 63= ) 568 % 79= ) 907 x 26 =
11.
/ 7 7 7 / / ’ 7 7
/ ’ ’ ’ / / / ’ ’
// // // // // // // , //
4 s s 4 s s 7 ’ ’ 12.
s / s
, // // // , // // // , // // //
7/ 7 7 ’ 4 7 7/ 7 /7 7 ,
s s s, 7 s , Ve s s,
7 7/ 7 7/ 7/ V 7 4 7/
s 7 , 7 7 , / 7 ,
s s V: 7 s , s s v
s s s 7 s y Ve s
) 399 x 30 = ) 798 x 26 = ) 712 x 46 =
7 7 7 z s s 7 s s
/ 7 7 ’ / / ’ / /
/ 7 s /s 7 7 ’ ’
s s s / ’ s 7 /s s
7 / s 4 7 7 4 7 7
4 e 7 4 /
s s 7 ,/ s /, ,/ ,’ s ,/ ,/ /’
7 7 7 V2 4 / / 7 4 7 ,
7 e 7 7 /7 7 4 4 e
7 s Y s s , s s ,
7 7 , s / P2 7 7/ ,
s ’ y ’ s , s s ,
7 7 y 7 7 v 7 7

1-10
11-12

[ M ath ] www.CommonCoreSheets.com

92

83|75|67|58|50]42]|33|25]17|




Answer Key

Name:

Lattice 3by 2
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